BbIinoaHuUTL HOMepa 479-480

Yupasxaenus
475 BuIYUCINTE:

1) cos(-—-g) sin(-ﬂ)+tg(_%); 5 1+ tgz(_g) |
3) 2 sin(—%)cos (—%)+tg(—§)+sjn2(_§);

4) cos (-m) +ctg (—g)—sin (-% 1:)+ctg (—%);
 rel)=(s)
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in| -% = 1082
6)2s1n( 6)+3+7,5t,g( 1t)+800827t.

476 VYupocTuTh BRIpaXKeHHe:
1) tg (—a) cos o + sin O 2) cos o — ctg o (—sin o);
3) cos (—ou) + sin (—o.)

’
2a

cos? o — sin
4) tg (-a) ctg (-o) + cos® (—a) + sin® .

477 BbLIYHCIUTL:

Bt
2 cos (—%)+sin (—%)
2) ﬁsixx(—%)—thg (-%)4—4005(—% n).

478 VYupoCcTUTH BEIpasKeHHeE:
sin® () + cos® (-a) | 2) 1-(sino + cos (—0.))*
l-sin(—a)cos(—a)' —sin (—a) :

479 Jloxasarh TOMKAECTBO:
1) cos o sin (6n — @) - (1 + ctg? (-0)) = ctg (—);
1—sin?(-0) _ sin (¢ —2m)

=ctg 0.
cos (4m—0) 1-cos?(-a) .
480 PemwuTs ypaBHeHHe:
1) sin (-x) =1; 2) cos (-2x) = 0;
3) cos (—2x)=1; 4) sin (-2x) =0;

5) cos? (-x) + sin (~x) = 2 — sin® x;

6) 1 — sin? (-x) + cos (4% — x) = cos (x — 2n).
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